



Calculer une égalité avec des parenthèses

* Il faut toujours commencer par calculer ce qu'il y a entre les parenthèses.

$(6 - 3) + (4 \times 1) =$
$(6 \times 3) + (4 - 1) =$
$(6 + 3) \times (4 + 1) =$
$(6 \times 3) - (4 + 1) =$
$(6 - 3) \times (4 + 1) =$
$(6 + 3) \times (4 - 1) =$
$(6 \times 3) + (4 + 1) =$
$(6 \times 3) \times (4 - 1) =$

$(6 \times 2) + (5 + 3) =$
$(6 - 2) \times (5 + 3) =$
$(6 \times 2) + (5 \times 3) =$
$(6 \times 2) \times (5 - 3) =$
$(6 + 2) \times (5 + 3) =$
$(6 + 2) \times (5 - 3) =$
$(6 \times 2) : (5 - 3) =$
$(6 \times 2) \times (5 + 3) =$